2
5
The storybook cost $20.

How much money did he have at first?

13. David spent = of his money on a storybook.

?
$20
2 units = $20
Tunit=9%
S5units=9%

He had $ at first. .

14. In a class of 40 students, 25 are boys. Express the number of
girls as a fraction of the students in the class.

Method 1: First, | find the

40 - 25 =15 number of girls.
There are 15 girls.

15 _
40

of the students in the class are girls.

Method 2: First, | express the number of
25_5 boys as a fraction of the class.
40 8
% of the students in the class are boys.
S _
1 g =

of the students in the class are girls.
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